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Given the following dimensions of a particular type of plastic reusable container
Inside dimensions 20" x10" x 10"

Outside dimensions 22" x 12" x 12"

£ach nested container 22" x 12" x 2"

A trailer inside dimension 280" x 120" x 120"

~ between containers and the walls of the trailer.
“then the trailer space utilization is:
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If an industrial facility employees 490 people and eat during 2 equa
space required for the full kitchen (Kitchen space) is:

of

O a.6,170 ft2

O b.1,715 ft2

O c.4,655 ft2

® d. 5,855 fi2

Clearmy choice
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Given the following dimensions of o particular type/of plastic reusable ¢
d JInside dimensjons 20" x 10 x 10’
fout of Outside dimensions 22%x 12! x |-
N Each nested container 22" x 12
Atraller inside ditnension 280" x 120 %120

Containers are not palletized. Asst

meno
Banssan contminpre

O clearance is needed between g
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In fixed product type layout there is little flow of pers
flow of material through the facility.

Select one:
O True

() False

Given the following dimensions of @ particular

+— —tain Aimansions 20" X 10" x 10"
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courses FACILITIES PLANNING AND MATERIAL HANDLING General

which of the following is from the advantages of in-sourcing:

@ a.to retain control over the quality
O b. free machines or equipment
O c.concentrate on core competence

O d. all of the above are correct

Clear my choice
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CILITIES PLANNING AND MATERIAL HANDLI

me

My courses FACILITIES PLANNING AND MATERIAL HANDLING Genearal Final exam |

Ifitis required to design a double loaded wall to wall (with continuous concrete crub)
with a parking angle of 70 degree and a module width for standard cars equals to 60
depth is 18 ft.

The parking width is equal te ==« -=~==«= ft,

Note: approximate your answer to the second decimal
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ACILITIES PLANNING AND MATERIAL HANDL|
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uestion 3
ot yet
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FACILITIES PLANNING AND MATERIAL HANDLING Final exam (June.

General

| Time left 0:3100 |

Ifitis required to design a double loaded wall to wall (
parking space (i.e. W2) with o parking angle of 70 deg
standard cars equals to 60 ft. given that the stall dept

The parking width is equal to ~------——- ft

with continuous concrete crub)
ree and o module width for
hislg ft x

Note: approximate your answer to the second decimal

Answer:




Planning is a layout pracedure which is based on the space relationship
_pmctw‘llmhbtm theh o number of alternative (ayouts are desig
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given the following facility layout, the rectilinear
distance between the two departments (A and
D) is equal to ===-===--=--—_
of
A(4x4) B (2x4) =
B |




Question 1

Not yet
answered

Marked out of
2.00

¥ Flag
question

Time left 0:49:33

if there is a medium demand for medium number of similar components the suitable layout type is

O a. production line layout
O b. fixed position layout
O c. product family layout
O d. process layout

O e. hybrid layout
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ions 12"
ontainer 22" x 12 "x 2"
1side dimension 280" x 120" x 120"

Ners are not palletized. Assume no clearance is needed be
| between containers and the walls of the trailer.

en the number of nested containers that us

g the same space as one |

Blas

) b. None of the mentioned
O cl

O d.7




ons 20"x12"x12"
ontainer 207x12"x3"

e dimension 260"x120"x120"

not palletized. Assume no clearance is needed befween‘ éontbl
s of the trailer ‘

e O 3.7

® 6

" . Clear my choice
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' teri h a material hand
I A principle of material handling whic! S






tion 4 ot -
n The Optimal Unit Load is the quantity where processing time, WP and’

grad Select one:
1d out of ® True .
A v

O False

ling which o materia
courses of action to ¢

O b. Work Principle
® C.:Pléaﬁning?ﬂnclple

O d. System Principle

O e. Standardization Principle

clear my choice
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)m for the cafeteria area select the lower bound
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In fixed product type layout there is little flow of personnel and equipm
through the facility.

red
foutol Select one:
| True
[
on False
n2l in the operdtion process chart and precedence diagram, components ¢
starting with 0
red
d'out ol Select one!
frue
False

eto search
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Question 7 in the CRAFT , you can ex

Not yet adjacent
answered
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Questior
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EoA type of layout used when the product is too large or cumbersome to move throughthe

even if the departmentsare rJ

¥

various processing steps. Consequently, rather than take the product to the processes, the :
processes are brought to the product. .

' O process Layout

D. Group Layout

c. Fixed Position Layout

Product Layout

Ina _

function the

Finish attem

Time lettoﬁi

ged according to the general




area required for the first aid room is . ’Z‘l‘ozredwee »
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| Mycourses  FACILITIES PLANNING AND MATERIAL HANDLING/ ) gaen

("Bl ~ossible flow pattern that within process department are: s |
| : -
:f‘
O a. All mentioned
() b.Back to back
) c. Front to front
d. None of the mentioned
e En[c:Fto end
f. Circular
o Inthe operation process chart and pr dence diagram, components.are identifig




Health service at facilities should be close to hazardous tasks in quite an area.

Select one:
® True

O False
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required to design a double loaded wall to wall (with continuous concre
(i.e. W2) with a parking angle of 70 degree and a module width for

NtinLOUS concrete curt)parking space (W2) where Moduls wicth for

i your manager askyouto desian 50% doubile loaded, wall to wall (with
\args SO is 54 teat and stoll deptivat 22 jeet. Then the distance 10st dUg o parking ot ongisis




Given the following dimensions of a particular type of plastic reusable containers:
Inside dimensions 19"x 10"x11"

Outside dimensions 20"x12"x12"

Each nested container 20"x12"x3"

A trailer inside dimension 260"x120"x120"

Containers are not palletized. Assume no clearance is needed between containers, and
between containers and the walls of the trailer

the container space utilization is equal to ==========-~

O a.75.33%
O b.72.57%
O ¢.69.67%
O d.75.72%

It is a form of flow pattern that is applicable when it is desired to terminate the flow very
near the point where the flow originated.

O a. W-shaped flow pattern

O b. L-shaped fiow pattern

@® c. Circular flow pattern

O d. Straight line flow pattern

Clear my choice
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How many lavatories do you need if a foundry

® a8
b.5

C. none of the mentioned
d.7

If an industrial fac)lity employees 490 people
the cafeteria with vending machinas i

Q. 2,940 12

11a

has 112 employee?

eat during 2 equal 30 minutes shifts




e
," Time left 0:21:56 /

e facility has employed three
required for the examination room

In designing a health service area, assume that th

nurses and two part time physician, then the area
i§ ——==mun ft squared

‘ Answer;
| L




v

from the factors to be considered in analyzing the material handling problem==---:

J a.the types of materials
itof
b.the material physical characteristics
) C.the quantity to be moved

® d. all of the above are correct

Clear my choice
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